2025/4/15

L3

SLASH GUARD SGKO09B Z1000'03-'06 IJRF7/S—YV)RrTT,
HUKBRBLHELET,

BXSHI—ILFAT L

SGK09B [Z1000 '03-'06
EREE] WEE | K
TEFR/\—AM10 x 285 (P1.5) 1 1500 1500
M10 x 250 (P1.5) 1 1150 1150
M10 X 85 (P1.25) 2 400 800
M10 X 40(P1.25) 1 300 300
T AT— 1 7500 7500
959Fhiy —{ZHE7 L—} 1 1800 1800
M6 X 25 K 4v%vy7 2 100 200
M6ETyv— 2 10 20
M67 FAFYIFETyYv— 2 20 40
M1075Y% ' NT 2 300 600
M10Fvk 2 200 400
M10ETy v— 8 50 400
M10S7y 4~ 5 50 250
75— M10 10mm 2 450 900
55— M10 20mm 2 250 500
S/n— 2 250 500
¥16,860| Bt ik 1% |




